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Results of Midterm Exam:
https://docs.google.com/spreadsheets/d/1me-P-rI0ORbNwoy iCsvRVevmk2WulGn/edit?usp=sharing&ouid=
111502255533491874828&rtpof=true&sd=true

>>p = 268435019; % 2728 -->>>int64(2728-1) % ans = 268 435 455
>> g=2; % testing g=2, g=3, .....
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>> p=268435019; >> t1=int64(randi(p-1)) >> t2=int64(randi(p-1))
>>g=2; t1 =186399292 t2 =15179782
>> x=int64(randi(p-1)) >>a_tl=mod_exp(a,tl,p) >>a_t2=mod_exp(a,t2,p)
x =96997711 a_t1=8797082 a_t2=17517376
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https://docs.google.com/spreadsheets/d/1me-P-rJ00RbNwoy_iCsvRVevmk2WuIGn/edit?usp=sharing&ouid=111502255533491874828&rtpof=true&sd=true
https://docs.google.com/spreadsheets/d/1me-P-rJ00RbNwoy_iCsvRVevmk2WuIGn/edit?usp=sharing&ouid=111502255533491874828&rtpof=true&sd=true

>> x=int64(randi(p-1)) >>a_tl=mod_exp(a,tl,p) >>a_t2=mod_exp(a,t2,p)

X =96997711 a_t1=38797082 a_t2=17517376
>>a=mod_exp(g,x,p) >>El=mod(ml*a_t1,p) >>E2=mod(m2*a_t2,p)
a = 238604564 E1=171171045 E2 = 130767206
>>ml=111; >>D1=mod_exp(g,tl,p) >> D2=mod_exp(g,t2,p)
>>m2=222; D1 =227685358 D2 =137330014

>>ml2=m1*m?2
m12 = 24642 >>a_t12=mod_exp(a,t12,p)

>> t12=mod(t1+t2,p-1) a_tl2= 22799942*6
t12 = 201579074 >>E12=mod(m12*a_t12,p)

>>a_t12=mod_exp(a,t12,p) E12= 1_6907822
a_t12 = 227999426 >> D12=mod_exp(g,t12,p)

>>E12=mod(m12*a_t12,p) D12'=23978883
E12 = 16907822 >>

- *
>> D12=mod_exp(g,t12,p) >> E1E2=mod(E1*E2,p)
D12 = 29978883 E1E2 = 16907822

>>D1D2=mod(D1*D2,p)
D1D2 = 29978883
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>>nl=mod_exp(g,m1,p)
nl=28125784
>>n2=mod_exp(g,m2,p)
n2 =222979214
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>> EE3=mod(n3*a_t1,p)
EE3 =196508353

>> EE4=mod(n4*a_t2,p)
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>>m1=2000; >>EEl=mod(nl*a_t1,p) >>nl12=mod(n1*n2,p)
>>m2=3000; EE1 =218099418 nl12 =143845522
>>m3=1000; >> EE2=mod(n2*a_t2,p) >>n34=mod(n3*n4,p)
>> m4=4000; EE2 = 153907571 n34 = 143845522

>>a_tl2
a_t12 =227999426

EE4 = 184150428

Compute DDA, --- DD4

>>n3=mod_exp(g,m3,p)
n3 = 260099963
>> n4=mod_exp(g,m4,p)
nd = 246637967
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>>EE12=mod(n12*a_t12,p) >> mod(EE1*EE2,p)

EE12 = 209506 ans = 209506
>> EE34=mod(n34*a_t12,p) >> mod(EE3*EE4,p)
EE34 = 209506 ans = 209506
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11 i derypts 0,80, where vy = el p G 1= @ rod p
1 Uwowe i colvmwrce the seawrs my & wr, she st recede
from B, 5, ——= affer decryplion of n, G v, spe cimply
vodfics if n, = 4" modp b, :gmzmadp,

Drawback : o p =1 — p-1 =70 — W+ W, are WW/M
ynod (p—1) sivce VW +w, are i The ex ponen?s,

Then i vy =2, M, =3 —=(my W) mad 10 = 5 nd 10 = 5,
ud Z% My = F ) My :g—»émgwfm,) vod 70 = 45 med 70 = 5,
Batlonce mﬂﬁ/[f)-i) is hotld whitle e 12 due—+tv F7
eotned F—4 = & Bic

amd fl due +o Wécﬂf gpf A-Y =4 BIC,

The network st infroduce rangze /Wof Yot Zreprsatlons:
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